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Sl. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
fFafefEa § deve wes &
(1) &F

(2) Il

(3) =

(4) T

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
2) B.A.D.C
3) B.C.A.D
4) C.D.B.A

A 31 YT AU §: U SHUDHYT (Assertion A) & =9 [A1R&d © ol GHI SHP BRUI (Reason R) & ¥ H:
HTHHYF A ; SHRIT S0 W8l g |

PRUR : Ab GHT Qe 3 | TS Wed HUAIS §1d 6. SHITAU sHRId gid §¢ Ui Il Wi =81 § |
SWRIGd DY D HTcld H, 1= fGU 7Y [geedi # 9 968 Iugad SR &1 94 DI |

(1) ARRIH Tel ¢ SRR A DI Jgl e ©

() A SRR GHTE T AfPTR AP Tel IR e @

@) AT AfPTR T TE

(@) AgsiTeisafrar TEl

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

Fr < FYF faU T § UF HfFUE (Assertion A) F F F e & @1 gEU S5 SR (Reason R) F 9 &
i A ;T wes syl g
FRU R : T s@Ria o © | AT Tl oeRiT W IR T en |

I HYUA & ATl 1, A 13U T ol # ¥ we Suged I &1 9 S
(1) A IR R H 981 § SR R, A 91 w¢t ammem &

(2) A JRR SH 98 § A R, A 91 981 s 76 2

(3) AT E AP R w1 T2

(4) ATE e aETRTE B

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List II

List I (Wood) List IT (Synonym)
A pervasive I [filter
B, |sieve I  pwidespread
C. |potent III.  Inetting
D. |mesh IV.  |powerful

Choose the correct answer from the options given below :
(1) A-IL B-L C-IV, D-III
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-I, C-III, D-II
(4) A-IIL B-I, C-II, D-IV

et 13 91 G 11 BT e ifore

AT 1 T 11
A [FHR T 1. [ e
B. [oydeil g1 S SR
C. [P gom 111 |fdh il & SR OR A=A
D. [posndsieH IV, 4G ga o

= fSu U fds el © 9§ Hel 3R &1 994 Sifo:
(1) A-IL B-IIL C-IV, D-I
(2) A-II B-IV, C-I, D-TI
(3) A-IV. B-I. C-II, D-III
(4) A-L B-IL C-IIL D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema. shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D oaly

(4) B and C only

e Feyg I s T § 2

(1) TFe g

(2) R o1y

(3) Mg

(4) ¥gF ¥1g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
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Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

T @ Hefig FH-w aw wE e 2

(1) &= A sdeia S 8§ |

(2) Wepa # Wit Eler=ia S TR €

(3) fFaE® HHRT YT 99 agaa- & fasd g ot 3 |

(4) &<t veRia e Sl &1 agaed &9 & [0 T & ®E W ST W E

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fore waTe &1 3 onfa of<m Ug WU B, S OWeY WA $Ed @ | 9d SeTeeu g |

A, gfemmEs
B. &g
C. e
D. sydmrEar
E. 3=
= fau e fowedl # ¥ 99 SUged TR &1 90 S0
(1) T@ A, B. D
(2) 3@ B, C.D
(3) F@AC, A, B
(4) @@ D, E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028

Which of the following is a one-word substitute for 'safe to drink’ ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

AT 59 ¥ #1 9% # € B9 qaier v & 2
(1) 9H4

(2) e

(3) @™

(4) o

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

et A s o= 2 -
A, SEIYRT
B. e
C. fmEn

D. &8
E. g=fa

= fau e fowedl # ¥ 99 SUged TR &1 90 S0
(1) 9@ A, B. C
(2) $9@ B, C. D
(3) W C.D.E
(4) FA.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

B[5 91 & 909 S |

(1) TOF FE B FEA S

(2) g1 g & 9o B! B |

(3) Wl B4 &I Y=1 & al |

(4) BT WS A1 S |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Siciet & e dere ud IeAfae sEifa & d dide! &1 =1 nuHEE 5 e fearmar g 2

) Fitarer R

(2) i fasatdy

(3) Hig=T ISTTe

(4) TIeTaI IoUa

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

S Upuls ®1 U8 YR 50 3 ard Yun A SR gdf sreiet wem ¥ 5Y # SR THE a4 Il dre A S a6 2

(1) a1 g 598
(2) 3 SfERifhEmE
(3) foedr f&fwl

(4) Tgd-a® wag
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in .
(1) India




(2) China

(3) UAE.

(4) Egypt

SR Y[ET WIE HesH ate @Y 2022 H HRA A TYH ®IF WIS a1, [T smaeH g
(1) HRd

(2) =9

3) Uz
(@) oy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovie

(3) Rafael Nadal

(4) Roger Federer

9 & T serfems oie & 798 T § 099 o & U (Qare & e e ?
(1) Ee=r R

(2) A% TeifEE

(3) % Hsm

(4) IR HeR

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

foyfe oo g1 wRgE F0T S9E 2022-23 F SFOR 91 99 $1 oS gfE w1 egeE e g 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216




All the intellectuals are very emotional. because :
A. They are thinking bemngs

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A. D Ouly
(2) B. C Only
(3) C. E Only
(4) D. E Only

TR gEod Sga HIgF B &, Fie

A. T T e wreft €
B. § arfés it & |
C. g miftrcig wft & |
D. dexiFE T |

E.d9mgoTs |
9 feu 7y fawedl ¥ § 999 SUgad IR &1 994 S
(1) $TA.D
(2) FTB. C

(3) ®=aa C.E
(4) FTUD. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player "XYZ' have hatred for other team-mates
D. Player "XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B. C only
(2) A and C only
(3) B.C.D only
(4) A B.E only




Pear & faareat & fou wafan e afw |

A. FEEE XY Z' & v veftfd swar g |

B. W 'XYZ' #§ €0-yia ¢ |

C. et 'XYZ' # o= éin-wesi S U g g |
D. Bardt 'XYZ' wa veitfad s g |

E. e 'XyZ W eitff s g

i oy n fasedl # ¥ 9e9 Suged IUY &1 994 Sl
(1) $9E A, B. C
(2) FTAA IR C
(3) ¥ B, C.D
(4) 90 A, B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218

A person can learn Sanskrit without a teacher :

A. It is not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskxit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. CandD only

(3) A.B and E only

(4) A and D only

i3 ofaa fam1 felt sreamus & Wepa e weal &

A. o sras F Tepa S TRE 9 2 wifF o5 UE aesl A R
B. Sd SraeT IRE ¢ i T8 Ue TR-aFHie! e |

C. @ =15 i 9@ g=q1 & Fife 75 Fo0 e UM B |

D. T &3 arags F1 gEvE # 2 e e S Ol W 9ed ©
E. 7% fa=dt um o= o e ofsg s fwawa &

i fau e fowedi # ¥ 9ed Suged IR @1 9049 S
(1) FTIA IRE

(2) FFE B, C R D

(3) FTA. B IRE

(4) FIWA FRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

SlI. No.19
QBID:15550219




Give below are two statements :
Statement I : Pollution level m Delhi may be reduced by reducimg the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I is correct but Statement IT is mcorrect
(4) Statement I is mcorrect but Statement IT is correct

i < Py fow T
FUE ] : 2wl & ugun =1 TR RO 9 % s ¥ 92l Of 9T |
FUA 1 ] : N HREH @H-UgHT 3HH Hed & SR @Rl & /Y 9as ¢ |

IRIE FUF & A0 H, A U T eedl H§ 9§ 999 I9gad ST $1 90 Sl
(1) YA ] #R 11 1 w8 8

(2) A SR eF TeE E

(3) A TE R AFT T L T 7

(4) = I 7T & e Y 1 9l

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement IT : Government must encourage co-education, as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Hi € wu Ry e &
FU | ; QT SR Afgensd, S, & fog e aeagf 2
HYT 1 1 : BN S Te-Ms = Hiwe &1 =i wife ug 2w & G % oy smews 2 |

TRIE YT F e °, A fer T el § § 999 99ge 9 31 999 i
(1) &Y 1 3R 11 §Ff w81 8

(2) =1 SR I EHf Toa B

(3) wy= 198 & Wit wuA 11 Tad &

(4) ®u ] 7T g, A wy= 11 981

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21

QBID:15550221

H o i then the value of , 1 is
x+—=2 4+ —

=
(1) =2




(2) =8

3) =1
4) =4
ofe | 1 @ . 1 SIHAER-
x+—==2 X +—
X X
(1) £2
(2) £8
3) =1
(4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio S; : 5;. then their volumes are in the ratio §7# : §27

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false
(4) A is false but R 1s true

2 9 Py AU TN € U HBYT (Assertion A) P =Y H fgd 8 T gHRI IHD BRUI (Reason R) B Y T:

HfHYF A - a7 S U1 & AT BT U 3:27 & Al 31 Idg A% I SUTd 4:0 BT

PRUIR : TS &1 91 D JAE HFBA BT 3T S, - S, & AT S HTTAH D1 UM 52 - 522 T

IWITd BYF & ATdlS H, A I[GU 7T fakedi § 4 el 3R &l 9gq Hifo |
(1) ASRRIF TAE SRR AT T TN

) ARRIATAE, AfpTR. AT TEI AT TR ©

(3) ATTE APIR WA

(4 ATTEAPAR TR

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

SlI. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

afe [l 2 BT I8 3R SUR FIST1 &1 BH: 50% 3R 25% 1 01 AU dl R WS $iR 74 P & SR BT SHUTd el -
(1) 8:27

(2) 75:
(3) 32:
(4) 27:

L¥¥]
LR ]

(=R |

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]




Sl. No.24
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The probability of selecting a vowel from the word TRIANGLE is -

(1)
(2)
(3)

(4)

e TRIANGLE # ¥ U5 R 931 &1 Wafsal &1 5l

1)
(2)

(3)

GOl L GO G =] kD ] GBI LA GO R e ] D

(4)

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

SlI. No.25
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If one root of quadratic equation 2,2 _3, 4(2k+1] = 0 is five times the other then the value of kis :
3

1) —
16

(2) -

3) -

[~ VS] ;lw

3
4) -
8
el wli@m 5,2 3.4 (2k+) =0 T U & g &1 9= 1 & o k ST HH 0 5F 7

3
1) —
16

(2) -

ool W ;l"""

3) -
3
(4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
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Farm and home visit is a type of

(1) Individual method of communication
(2) Partial method of communication
(3) Group method of communication
(4) None of these

B R T YT TF PR E -

(1) Uy &1 dafEas &l

(2) o &t i fafy




(3) Tuuw F1 TS Ay
(4) TH I FE T

1[Option ID=22001]
2[Option ID=22002]
3[Option ID=22003]
4[Option ID=22004]

SlI. No.27
QBID:914242

Leadership means direct face to face contact between -
(1) Leader and follower

(2) Leader and villagers

(3) Villagers and Administrator

(4) Family and Admimnistrator

9@ =1 of UF g ES-IES UUS ©

(1) a1 IR A Fal

(2) a1 iR ar

(3) Tt e =T

(4) TRER SR yRTEE

1[Option ID=22045]
2[Option ID=22046]
3[Option ID=22047]
4[Option ID=22048]

Sl. No.28
QBID:914243

Kisan Credit Card (KCC) scheme was launched in year
(1) 2000

(2) 1998

(3) 1948

(4) 1988

T 5z #18 (KCC) a1 fE ad oMy g% ?
(1) 2000

(2) 1998

(3) 1948

(4) 1988

1[Option ID=22089]

2[Option ID=22090]

3[Option ID=22091]
4[Option ID=22092]

Sl. No.29
QBID:914244

The first step in community development process
(1) Identification of the need

(2) Interest of the community

(3) Skill of the community

(4) None of these

HyeTg AT UihaT &1 H TR0 E -

(1) T 31 UgaH

(2) dwem #1 e

(3) HuE/E &1 B

(4) 78§ BIE T

1[Option ID=22133]
2[Option ID=22134]
3[Option ID=22135]
4[Option ID=22136]

Sl. No.30
QBID:914245

The Agricultural Price Comumission was set up i the year
(1) 1955




(2) 1965

(3) 1970

(4) 1975

Froifea 5w od & o Fa smm 21w 31w 6 2
(1) 1955

(2) 1965

(3) 1970

(4) 1975

1[Option ID=22177]

2[Option ID=22178]

3[Option ID=22179]
4[Option ID=22180]

Sl. No.31
QBID:914246

Talking is which type of communication ?
(1) Verbal

(2) Non-verbal

(3) Both Verbal and Non-verbal
(4) None of these

ST, Y F1 UF TER © -

(1) #AfEs

(2) s

(3) =M

(4) T B T

1[Option ID=22221]

2[Option ID=22222]

3[Option ID=22223]
4[Option ID=22224]

Sl. No.32
QBID:914247

Extension Education, is type of education
(1) Partially formal

(2) Formal

(3) Informal

(4) Semi formal

fRren-wrewon, fren &1 0% SR £ -
(1) sfiftre ShoEs

(2) =i

(3) sFEmETRE

(4) 3% ST

1[Option ID=22265]

2[Option ID=22266]

3[Option ID=22267]
4[Option ID=22268]

Sl. No.33
QBID:914248

Peach leaf curl is caused by a

(1) Fungi

(2) Bacteria

(3) Virus

(4) Viroid

Frmifed feas g v o Ses Tme e s ?
(1) ®a%

(2) g

(3) faum

(4) THiss

1[Option ID=22293]




2[Option ID=22294]
3[Option ID=22295]
4[Option ID=22296]

Sl. No.34
QBID:914249

Match List - T with List - II :

List -1
A NABARD I
B Etawah Pilot Project 11
& National Demonstration 111
D Community Development v
Programme

Choose the correct answer from the options given below :
(1) A-L B-IL C-III., D-IV
(2) A-II, B-III, C-IV, D-I
(3) A-L B-I C-II D-IV
(4) A-IV, B-I, C-II, D-ITI

T 1 % =Y @ 11 @1 Frer By

-\1;“ I ﬂ'—f-h 1
A. TS (NABARD) L 1952
B. ST TR Heiae 1I. 1982
C. i wexfE 1II. 1948
D. aela® fie sER V. 1964

1 fer o fowadl & € w61 o @1 909 Sl
(1) A-L, B-II, C-III, D-IV

(2) A-II B-III, C-IV, D-1

(3) A-I B-I, C-III, D-IV

(4) A-IV. B-I. C-II, D-ITI

1[Option ID=22297]

2[Option ID=22298]

3[Option ID=22299]
4[Option ID=22300]

List- IT
1952
1982
1948

1964

Sl. No.35
QBID:9142410

How to determine felt needs
A. By talking to people individually

C. By asking straight question in mass meecting
D. By condueting a survey and on the spot observation
E. All of the above

Choose the correct answer from the options given below :
(1) Aand B only

(2) A.BandC only

(3) Band D only

(4) E only

B. By talking to people in groups to find out the common needs




TEGE 1 W4 A SawgEal By 9 fFm e £ 2

A @ H fufdde =9 8 Ad 29

B. @rll & 99g & 91d S 36 0 Hagearal &1 adl e
C. g ¥ T & fimres 3 1Y 7y ol

D. Ul TR U e gl

E. TmrE |4

e fou U fGeedi § 9 981 ST &1 994 S
(1) FT@ A FRB

(2) FTWA B R C

(3) HTW B SR D

(4) FT@E

1[Option ID=22005]
2[Option ID=22006]
3[Option ID=22007]
4[Option ID=22008]

Sl. No.36
QBID:9142411

Following things required for effective communication

A. Credibility

B. Context

C. Content

D. Clarity

E. All of the above

Choose the most appropriate answer from the options given below:
(1) A and B only

(2) B and C only

(3) A, BandD only

(4) E only

= S & Ry e 99 @ erewmed §

A TayEFEa
B. ¥y
C. oo a5

D =g

E. o 9+

= ey U Aedl # § 9o 99ged IR & 994 S
(1) Had A SR B

(2) HT@ B IR C

(3) FIWA, B 3R D

(4) FT@E

1[Option ID=22009]
2[Option ID=22010]
3[Option ID=22011]
4[Option ID=22012]

Sl. No.37
QBID:9142412




Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Communieation must be planned like any other programmes.

Reason R : Following points are taken into consideration for better communication.

(i) Know vour purpose

(11) Know your audience

(iit) Plan your approach

(1v) Evaluation

In the light of the above statements, choose the correct answer from the Given options given below :
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

2 < Fy= faw e § uF wfiFuT (Assertion A) ¥ w9 H a8 & O gOU 5SS SR (Reason R) F ¥9 #
HUFUT A : 30 FEHAOC B HITT HHE0 B O AHTEE T

FRU R : 3= W90 & fo g fgef = R a3 s

(i) 377 S F IR F T

(i) 3 o & SR F T

(iii) 2 ST S G S

(iv) FIEA F

TR FYT & AaE H, A (6T T el # | 981 IR B 997 Sy |

(1) A RRZF @8 MR R, A 1 98 s @

(2) A SRR & 9@ & @7 R, A 9 9l omem 78 2

3) ATUETdFEIR T
(4) AmEgaiFTRET T

1[Option ID=22013]
2[Option ID=22014]
3[Option ID=22015]
4[Option ID=22016]

Sl. No.38
QBID:9142413

Which one of the following is a Protozoal disease
(1) Empty root of cassava
(2) Heart root of coconut

(3) Phloem necrosis of coconut
(4) All of these

aRfET § S Ueea T I e @ E ?
(1) HomE 51 gl we

(2) Tfmw F18E e

(3) =TT &1 FamH JEad

(4) Sodiem o

1[Option ID=22017]
2[Option ID=22018]
3[Option ID=22019]
4[Option ID=22020]

Sl. No.39
QBID:9142414

Science which deals with soil genesis and classification is called




(1) Petrology

(2) Pedology

(3) Padogogy

(4) Petrography

a1 It AR b 6wy @ Sefa R Seam € -
(1) = B

(2) Ha1 fagm

(3) fRran famm

(4) F FufET

1[Option ID=22021]
2[Option ID=22022]
3[Option ID=22023]
4[Option ID=22024]

Sl. No.40
QBID:9142415

The DNA Double Helix concept was given by
(1) Watson and Crick (1953)

(2) Mendel (1882)

(3) Griffith (1928)

(4) Hershey and Chase (1952)

B U Regrsdiy Risra & 9o & -
(1) FesA IR FF (1953)

(2) How (1882)

(3) Taftby (1928)

(4) & iR 99 (1952)

1[Option ID=22025]

2[Option ID=22026]

3[Option ID=22027]
4[Option ID=22028]

Sl. No.41
QBID:9142416

At the time of gamete formation, the two allels of a gene separate from each other and pass into different gametes. It is called as
(1) Lethal genes

(2) Law of segregation

(3) Law of Independent assortment

(4) None of these

s & i & wey B oA & 2 g fieedl U gut @ ST SIT &1 SO 3OT ST A 3 WId &1 58 s eEd § 7

(1) uEe WA

(2) w# fgge= =1 Fad

(3) == Wi &1 o

(4) 57 q I T

1[Option ID=22029]
2[Option ID=22030]
3[Option ID=22031]
4[Option ID=22032]

Sl. No.42
QBID:9142417

Which method has the highest water use efficiency

(1) Sprinkler irrigation method

(2) Surface mrrigation method

(3) Drip urigation method

(4) Basin irrigation method

8 ¥ Ty Al & srnfis w@ Sugm &1 g velfla gt £ 2
(1) G e By




(2) ozt fi=r fafy
(3) T&u Rfarg fafy
(4) g o= fafy

1[Option ID=22033]
2[Option ID=22034]
3[Option ID=22035]
4[Option ID=22036]

Sl. No.43
QBID:9142418

Nano urea has been developed by
(1) IFFCO

(2) KRIBHCO

(3) Chambal Fertilizers

(4) Govt. of India

-giwn = e T m -

(1) 5% (IFFCO)

(2) Y= (KRIBHCO)

(3) dJod widame

(4) HRT TWER

1[Option ID=22037]
2[Option ID=22038]
3[Option ID=22039]
4[Option ID=22040]

Sl. No.44
QBID:9142419

6CO, + 12 H,0 SUI’llight C4H;,04 + 60, + 6H,0 is the chemical reaction for which of the following ?
2 2 S 2 2 2

(1) Decomposition of plant residue
(2) Mineralization of Nutrient

(3) Photosynthesis

(4) None of these

6 CO,+ 12 H,0 FHATR, CH,,04 + 60, + 6H,0 & Twmf aififa 31 g5 Fafafea 7 3 Bl e 8 2

(1) urgy @Rl @ fdeeq
(2) 9% adi &1 GieisL
(3) Y- HueH

(4) I B T2
1[Option ID=22041]
2[Option ID=22042]

3[Option ID=22043]
4[Option ID=22044]

Sl. No.45
QBID:9142420

Which one of the following in not caused by Phytoplasma
(1) Sandal spike

(2) Grassy shoot disease of sugarcane

(3) Little leaf of brinjal

(4) Black rot of crucifers

Frefafea # @ S @1 I B g’ 76 g E 2

(1) ¥sq wEs

(2) H & AEEE

(3) ¥ @1 B (e o)

(4) HIH &1 &dtic

1[Option ID=22049]
2[Option ID=22050]
3[Option ID=22051]
4[Option ID=22052]




Sl. No.46
QBID:9142421

Method of application of Biofertilizer is
(1) Seed treatment

(2) Soil treatment

(3) Seedling treatment
(4) All of these

Ta e & Suan i Ay .
1) & IER

(2) Hal9HEaR

(3) arelie SR

(4) SRIE a4

1[Option ID=22053]
2[Option ID=22054]

3[Option ID=22055]
4[Option ID=22056]

SlI. No.47
QBID:9142422

CH,,04 + 60, — 6CO, + 6H,0 + encrgy (ATP and heat) reaction occurs in
(1) Photosynthesis

(2) Respiration

(3) Evaporation

(4) Evapotranspiration

CeH,,04 + 60, — 6CO, + 6H,0 + Energy (ATP 3R G ifiriban il -

(1) yem dwem #

(2) o3 ¥

(3) T

(4) AT |

1[Option ID=22057]
2[Option ID=22058]
3[Option ID=22059]
4[Option ID=22060]

Sl. No.48
QBID:9142423

Cover crops, strip cropping. vegetative barriers are
(1) Agrononic and soil management practice

(2) Engineering Practices

(3) Chemical practices

(4) None of these

ffy TRem w9, TEiER W, gt 9§ -

(1) §% &9 qu 9a1 ve Y uE

(2) HfiEife o=t

(3) Wt Taf

(4) 574 I I 78

1[Option ID=22061]
2[Option ID=22062]
3[Option ID=22063]
4[Option ID=22064]

Sl. No.49
QBID:9142424

If the rate of soil loss does not exceed the rate of soil formation it is called
(1) Natural Erosion

(2) Accelerated erosion

(3) Both 1 and2

(4) None of these

R rEF R @ TS RIMAF T AT L -
(1) wrHfae e




(2) T 3er
(3) 1 J2 S
(4) =7H 9§ =I5 15
1[Option ID=22065]
2[Option ID=22066]

3[Option ID=22067]
4[Option ID=22068]

Sl. No.50
QBID:9142425

The mherent capacity of soil to provide nutrients in adequate amounts and in proper balance. for the growth and development of plant is

called -

(1) Soil productivity

(2) Soil fertility

(3) Soil compaction

(4) Soil management

o1 &1 a5 R s o ot & Fee & Ry o9 snawgs AR ShfEd A § divsdd e Sl 6 HEedl § -
(1) Hal el

(2) &1 Feal

(3) T HgH

(4) o1 wEyH

1[Option ID=22069]
2[Option ID=22070]
3[Option ID=22071]
4[Option ID=22072]

Sl. No.51
QBID:9142426

Rhizobium is a symbiotic nitrogen fixing bacteria and used as a biofertilizer in which of the following ?
(1) Maize

(2) Paddy

(3) Gram

(4) Sugarcane

SSIEET U Tguidl ATgeior fRRiee oian] & fods 3ugr oF Siie & w9 | fmad o aar ¢ -
(1) Hadl
(2) u=
(3) =
(4) T

1[Option ID=22073]
2[Option ID=22074]
3[Option ID=22075]
4[Option ID=22076]

Sl. No.52
QBID:9142427

ICAR - Indian Institute of Weed Science in located at
(1) New Delhi

(2) Kolkata

(3) Jabalpur

(4) Bikaner

HEHITSR - UTehg TRgaaR faw e ey e wm R safm g 2
(1) 7% et

(2) =@

(3) WETRR

(4) FiwR

1[Option ID=22077]

2[Option ID=22078]

3[Option ID=22079]
4[Option ID=22080]

Sl. No.53
QBID:9142428




Which of the following is a Kharif crop but can be grown as a Rabi crop as well 7
(1) Rice

(2) Wheat

(3) Maize

(4) Soybean

Frofafad & 9 -3 wdie Buc ¢ g o 6 vy &1 ae H T o aedi © 2
(1) g

2 g

(3) Haal

(4) grE=

1[Option ID=22081]

2[Option ID=22082]

3[Option ID=22083]
4[Option ID=22084]

SI. No.54
QBID:9142429

The relative percentage of different soil separates (sand. silt, clay) is called
(1) Soil structure

(2) Soil aggregation

(3) Soil texture

(4) Soil profile

el # ¥4, e, i #1 smifde viomaar sand &
(1) He1 A

(2) Hal =1

(3) Halimsed

(4) HaI ui=sia

1[Option ID=22085]

2[Option ID=22086]

3[Option ID=22087]
4[Option ID=22088]

Sl. No.55
QBID:9142430

The process of decay of organic matter produces carbonic acid which dissolves minerals more rapidly is called
(1) Hydrolysis

(2) Carbenation

(3) Hydration

(4) Oxidation

HTEE Terll & [&ge #1 ulHal § 577 g SEi-e R of @Al &1 HiiE qeHRiia §91a1 &, sl o

(1) 9T HIgCA

(2) FEHEA

(3) oo

(4) s

1[Option ID=22093]
2[Option ID=22094]
3[Option ID=22095]
4[Option ID=22096]

Sl. No.56
QBID:9142431

Mendel's theory of Inheritence is based on garden pea (Pisum sativum) whose chromosone number (2n) is
(1) 14

(2) 20

(3) 24

(4) 28

HUST 1 RSl H1 Riid A (WSHH Jer5ad) T SN ol T URET (2n) ST g0 4 ?

(1) 14

(2) 20




(3) 24
(4) 28

1[Option ID=22097]
2[Option ID=22098]
3[Option ID=22099]
4[Option ID=22100]

Sl. No.57
QBID:9142432

The soil farming factor that has no relevance after soil reaches its maturity is
(1) Time

(2) Topography

(3) Climate

(4) All of these

He1 T =1 95 #Re fras! aeiEa ge1 & uioe F 918 78 gl &

(1) 997

(2) TS

(3) wTErg

(4) I a4l

1[Option ID=22101]
2[Option ID=22102]
3[Option ID=22103]
4[Option ID=22104]

Sl. No.58
QBID:9142433

The condition is which the mdividual possessing chromosome constitution of 2n—1-1 is referred to as
(1) Monosomic

(2) Double monosomic

(3) Trisomic

(4) Double Trisomic

ag a1 ford 2n-1-1 & TURET "1 9 9 2, 59 S ol o

(1) HHEAHS

(2) S AERIHE

(3) TS

(4) S0 TGS

1[Option ID=22105]
2[Option ID=22106]
3[Option ID=22107]
4[Option ID=22108]

Sl. No.59
QBID:9142434

Given below are two statements : One is labelled as Assertion A and other is labelled as Reason R :
Assertion A : C4H ;04 + O; — 6CO; + 6H,0 + Energy (ATP + Heat)

Reason R : Glycolysis, which oceurs in the cell's eytosplasm, Glucose is split into two three carbon molecules. This reaction also produces
ATP. NADH and water. ATP and NADH are both high energy compounds.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A.
(2) Both A and R are true but R 1s NOT the correct explanation of A.

(3) Ais true but R is false.
(4) A is false but R 1s true.




9 3 HYF AU U §: U SHUBYT (Assertion A) B 9 § ffEd 8 O IR SHP BRI (Reason R) & $T 5:
HUHYT A : C4H,,04 + 0, — 6C0O, + 6H,0 + Fai (T 1 df + 31

PRUIR : TAGD TSI, DITLAD] & BTG 500 H 09 51 ¢ | 7@ &1, T U ard Fra 3 faufed ol & o | 39 sffear
Auvdd, raudidive i faosars | Td @ qura s diva. gA & s St g e § |

IR PUH & @A 1, 4 iU 70 f[dwedi § 1 U5l Su & 994 SO |

(1) ARREA I E AR R AT Tgl AAT §

(2) A RREA I §, A R, A P el T Tol o

(3) A¥TE AfFTR 3TA R

(4) AT E AR TAS

1[Option ID=22109]

2[Option ID=22110]

3[Option ID=22111]
4[Option ID=22112]

Sl. No.60
QBID:9142435

Given below are two statements : One is labelled as Assertion A and other is labelled as Reason R :

Assertion A : Green manuring is the practice of enriching soil by growing crop and ploughing m-situ or turning it mto the soil as green
plant materials for improving physical property as well as fertility of the soil.

Reason R : Dhaincha (sun hemp) is the most popular crop for green manuring and soil fertility enhancement.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) Ais true but R is false.
(4) A is false but R is true.
19 € s oy e # U afieu (Assertion A) ¥ w4 # i@ & 61 & 985 SRU (Reason R) & ¥9 &

HUFYE A ;50 | fafy #1 U e #1 SR qu WRyTH Uit 31 JaTs ol 9ot 5T B UIey Uetd § HeT F e Uit % wy-wry 3dear | afE
1 wfEe & forg femr ama §

HRU R ; T4 @Y §7H 74T §el 31 39l S 5¢4 of o9 (G5) Faliue Oy B ¢ |

FE BYF & s H, A G T Eed § 9 951 9T 1 997 S |
(1) A FRREF TTE AR, A F1 T TrEm B

(2) A RR GH 9@ fFT R, A 1 w6 s 78 &

(3) A TP R owa &

(4 AT afFIRET R

1[Option ID=22113]
2[Option ID=22114]
3[Option ID=22115]
4[Option ID=22116]

Sl. No.61
QBID:9142436

Given below are two statements : One is labelled as Assertion A and other is labelled as Reason R. :
Assertion A : Nitrogen is vitally important plant nutrient.

Reason R : Nitrogen is the basic constituent of life.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R 1s NOT the correct explanation of A.

(3) Ais true but R 1s false.
(4) A is false but R is true.




Fr < FYF faU T § UF HfFUE (Assertion A) F F F e & @1 gEU S5 SR (Reason R) F 9 &
HHUT A ; TI5eiad 80 w9 9 HaWE 9ey IS ¢ |
HRO R ; A5eio wiia" &1 Jies 2P & |

Iuiad HUF & Hes H, T o g Beadt # 9 9d oW &1 99 Sl |
(1) A JRR A 9@ T AR R, A #1 ¢ swrem 3

(2) A JRR SHiT@E dfeT R, A #1 98 oo T8 &

(3) AF@2AFTR @@ T

(4) ANTOEAFARTTE

1[Option ID=22117]
2[Option ID=22118]
3[Option ID=22119]
4[Option ID=22120]

Sl. No.62
QBID:9142437

Given below are two statements : One is labelled as Assertion A and other is labelled as Reason R :

Assertion A : Khaira disease is a prominent nutrient deficiency found in paddy crop.

Reason R : Khaira disease of rice - deriving its from dark reddish brown pigmentation of the leaves of the Zn deficient plant. The
pigmentation first appear in the middle of the leaves. then mtensifies and spread over the entire lamina.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) Ais true but R is false.
(4) A is false but R is true.

2 < Fy= faw e § uF wfieuT (Assertion A) ¥ w9 H a8 & @ gOU SF SR (Reason R) F ¥9 #
YT A B I U 1 B F O @ I U WS 9IS SIHEe I §

FRU R : 91 &1 B W0 F1 FH] & SRO G 6 | Towd aRE! F SR Iy {7 9uie o9 5l oial ¢ | auieal Sauyd gkl & 79 § Sud 5 o,
AT daar 9 gl ofdt F vos W ku e s |

FE BYF & s H, A G T Eed § 9 951 9T 1 997 S |
(1) ARREFAT@E IRR, A F! 981 o 7

(2) A R R EHf 9@ & 9T R, A &t 9t ourem 787 @

(3) A TP R owa &

4) AT dfFTR IO

1[Option ID=22121]
2[Option ID=22122]
3[Option ID=22123]
4[Option ID=22124]

Sl. No.63
QBID:9142438

Given below are two statements :

Statement - I : Rice is a staple food of India.

Statement - IT : Rice crop needs hot and humid climate.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

H2 < sy Ry @ &
HUA I ; TG0 YRd B g5 WEE 7
FYF 11 : 9199 F IAIEA & AL IO g 35 Sy HaWF ¢ |

SUIEd Y & HEE ©, A" o e Tedd! € 9 el 3 &1 994 S |




(1) =1 3R 1 24 5 B
(2) YA 4R 11 EHf o9 B
(3) FYA 1 T & dfera wuF 11 o9 Bl
(4) FYA 1 350 & e wue 11 9 B

1[Option ID=22125]
2[Option ID=22126]
3[Option ID=22127]
4[Option ID=22128]

Sl. No.64
QBID:9142439

Given below are two statements :

Statement - I : Momilactone is a phytoalexin found in Paddy.

Statement - II : Rishitin is a phytoalexin found in Potato.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.
(3) Statement - I is correct but Statement - IT is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

#2 < sue ey &
FYF | ; AdeeE 99 § U o1 91 U BEerdiea gl
FA 1 1 ; Rfrfess s & uran 919 9w 0% wEcaies &l

SWRITd YA & HTeNS 4, A (47 T el # ¥ 95 Iuged I8 & 997 Sia®
(1) FYF 1 AR 11 41 w8 2

(2) @1 3R 11 SH1 700

(3) TG R AT sy I Taa &

(4) F¥F ] TG &, AT U 11 96 R

1[Option ID=22129]
2[Option ID=22130]
3[Option ID=22131]
4[Option ID=22132]

Sl. No.65
QBID:9142440

Given below are two statements :

Statement - I : Brassica juncea has been evolved after hybridization.

Statement - IT : B. nigra crossed with B. compestris resulted in B. juncea

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.
(3) Statement - I is correct but Statement - IT is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

#2 < sue ey &
FYA | ; S oo 31 Sefg e E gs & |
FUF 1 1 : 3w T au §fe $afEg & dew § sige wa a5 2

Iiad HUF & HEs F, A o el § 9 98 S &1 90 Sifaw
1) FFE] AR SH aa g

(2) Y1 3R 11 34 oF@ &

(3) ®YA 1 9@ ¢, afe wua 11 e &

(4) Tl sd e deTsuT I 9d@ &

1[Option ID=22137]
2[Option ID=22138]
3[Option ID=22139]
4[Option ID=22140]

Sl. No.66
QBID:9142441




Given below are two statements :

Statement - I : Triticale is a cross between two crops.

Statement - IT : Oat x barley = Triticale

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - 1T is correct.

2 < sy R &
A s o s S e e s
FU IS« O = Riewa

THIE FYF & HEE 8, A4 75U 0 Gwedi § 9 981 SR &1 997 S
(1) S AR Ta

(2) A1 AR 11 1 s &

(3) Ty T & e Bue 11 9 &

(4) TF] 3T APIFUT I TT 2

1[Option ID=22141]
2[Option ID=22142]
3[Option ID=22143]
4[Option ID=22144]

Sl. No.67
QBID:9142442

Given below are two statements :

Statement - I : Phytoalexin are high molecular weight compounds.

Statement - IT : Phytoalexin are all phenolic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - IT are incorrect.
(3) Statement - I is correct but Statement - IT is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

fRasERims
FYF | ; BIOCEHET 3o HHR O 3T &
FUF [ 1 : BTHCITAie HATeE VS & ¢ |

Iiad HUF & HEs F, A o el § 9 98 S &1 90 Sifaw
1) FFE] AR SH aa g

(2) FYF] R I a4 33 &

(3) ®YA1 9@ ¢, afe wua 11 o &

(4) Tl sd e dieTsuT I 9d@ &

1[Option ID=22145]
2[Option ID=22146]
3[Option ID=22147]
4[Option ID=22148]

Sl. No.68
QBID:9142443

Grafting is not possible in

(1) Tomato

(2) Brinjal

(3) Onion

(4) Potato

e # ed miten (@om stuan) Sy T8 § 2
(1) ©HIR

(2) &=

(3)




(4) 4

1[Option ID=22149]
2[Option ID=22150]
3[Option ID=22151]
4[Option ID=22152]

Sl. No.69
QBID:9142444

Arrange these fertilizers as per nitrogen content (Higher to lower) :

A. Urea

B. Ammonmum Sulphate

C. Ammonium Chloride

D. Ammonium Nitrate

E. Di Ammonium Phosphate

Choose the correct answer from the options given below :
1) A.B.C.D.E
2 E.B.A.D.C
3) B.A.D,.C.E
@) B.A.C.D.E

g sdewt ®1 Agdiom 1 9 F e ¥ @fts @ o) ool w1

A. gfan
B. #EI-0H Teke

C. W0 WRES
D. =mifan TEge
E. S719 3@ i-a9 Biehe

g feu T fawedi & 9 951 SR &1 994 S
1) A.B.C.D.E
2 E.B.A.D.C
3) B.A.D.C.E
4) B.A.C.D.E
1[Option ID=22153]
2[Option ID=22154]

3[Option ID=22155]
4[Option ID=22156]

Sl. No.70
QBID:9142445

Which of the following fruit crop has maximum contribution in export
(1) Mango

(2) Grapes

(3) Apple

(4) Banana

feffe 4 @ va 1 fog wua & fofa § w@ifts arem 2 2

(1) 3

(2) #R

(3) =

(4) &

1[Option ID=22157]
2[Option ID=22158]
3[Option ID=22159]
4[Option ID=22160]

Sl. No.71
QBID:9142446




Nutrients absorbed by plants in anionic form

A. Nitrogen, Manganese. Calcium

B. Phosphorous, Sulphur, Boron

C. Copper, Zinc, Iron

D. Molybdenom, Potassium, Manganese

Choose the correct answer from the options given below :
(1) A and B only

(2) B and C only

(3) B only

(4) D only

FUTH T H Gl gRT St v 9 -

A. TT5CIeE, T, Hieras
B. 1=, e, R4

C. e, T, TET

D. Afdfiadn, drerfimm, A

19 fou T fawedl & € wE O &1 9T FIw:
(1) FTaA R B

(2) HT@ B AR C

(3) FT@ B

(4) F@aD

1[Option ID=22161]
2[Option ID=22162]
3[Option ID=22163]
4[Option ID=22164]

Sl. No.72
QBID:9142447

Given below are two statements :

Statement - I : Pyricularia oryzae - toxin is a specific toxin

Statement - II : Helminthospornium oryzae - toxin is a Non-specific toxin.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.
(3) Statement - I is correct but Statement - IT is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

Hi € wu Ry e &
HU [ ; TEigaiar sivrgel-fay ue faftw ffw 3
w11 : ety sivss v oe e-ffty fe g |

IHRIEd FYF & HEE |, [ 167 T Ghedl § 9 981 ST &1 997 S
(1) sy AR G Ta

(2) HYA] R 11 SHf oma &

(3) W] TUE AT FUF I 3§

(4) BUA ] 39 B, Al By [[ 99 &

1[Option ID=22165]
2[Option ID=22166]
3[Option ID=22167]
4[Option ID=22168]

Sl. No.73
QBID:9142448




Nitrogen fixing bacteria is/are

A. A-otobacter
B. Rhizobium

C. Bacillus

D. Azospirillum
E. Pseudomonas

Choose the correct answer from the options given below :
(1) A, BandD only

(2) A.B and C onluy

(3) C.D and E only

(4) A.B.C.D, and E only

Azewd fR $¢7 T o &
A. Twigigwee
B. fwifazg

C. 3de
D. aareneT

E. g

g feu T fowedl § € 98 9 &1 904 S
(1) WA, B3IRD

(2) FA, B AR C

(3) H@ C, D IR E

(4) A, B.C.D IR E

1[Option ID=22169]
2[Option ID=22170]
3[Option ID=22171]
4[Option ID=22172]

Sl. No.74
QBID:9142449

Given below are two statements :

Statement - I : Orobanche 1s a planerogamic plant parasite.

Statement - II : Orobanche is a root porasite.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.
(3) Statement - I is correct but Statement - II is incorrect.
(4) Statement - I is incorrect but Statement - 1T is correct.

2 < sy R &
®YF 1 ; fiE e Qe aey aieid 2 |
HUF [ 1 ; SiRIaF g0 § oran o are oieeid & |

IRIad BYF & AaE 6, 74 6 T GFdl § § 981 St &1 997 S
(1) ] AR Ta

(2) FYH] AR 11 41 3ma &

(3) T TTE G T 1 s &

(4) TF] 30 APTFUFT I TT 2

1[Option ID=22173]
2[Option ID=22174]
3[Option ID=22175]
4[Option ID=22176]




Sl. No.75
QBID:9142450

Match List - T with List - II

List -1 List - 11
A Nirobacter IL. Oxidation of Sulphur
B. Nitrosomonas 1I. Asymbiotic fixation of Nitrogen
i Clostridinm I11. Conversion of NHy-N to NO,-N
D. Thiobacillus Iv. Conversion of NO,-N to NO3-N

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-II, D-I
(2) A-L B-IL C-III, D-IV
(3) A-II, B-IV, C-I, D-II
(4) A-II, B-III, C-I, D-IV

T 1 & Wy @l 11 @ e Siiem

Tt 1 Tt 1T
A. ATggidER 1. | = ek
B. T EHAE 11, AECioH B SEeidl R
C. wuwgliezd I NH,-N®NO,-N # ufad
D. wEEREE  IV. NO,-N 3 NO,-N # uie

= fou Tu fAeedi § § 9l 9ud &1 904 S
(1) A-IV, B-III, C-II. D-1

(2) A-I, B-II, C-III, D-IV

(3) A-IIL. B-IV, C-I1. D-II

(4) A-II, B-III, C-I, D-IV

1[Option ID=22181]

2[Option ID=22182]

3[Option ID=22183]
4[Option ID=22184]

Sl. No.76
QBID:9142451

Match List - T with List - II

List -1 List- IT
A Splash erosion IL. Uniform removal of soil layers
B. Sheet erosion II. Most common form of erosion
=, Rill erosion I11. Advanced stage of rill erosion
D. Gully erosion V. Due to rain drop action

Choose the correct answer from the options given below :
(1) A-L B-II C-III. D-IV
(2) A-1V, B-1, C-1I, D-III
(3) A-IV, B-III. C-II, D-I
(4) A-l, B-1V, C-1I, D-III
T 1 % 91y g=t 11 &1 foems Fifom
i 1 it 1
SEBICH e I Hal ag &1 WHM ¥4 4§ gedl
T AT II. 3MeA 31§ IHG T

&5 Al e II1. &% 9idr 2uad &1 [y 9w
TR e IV. 1= &1 §gl § ugdl U4iE

oNwe

i feu o fawedi § € 98t 3T &1 994 S
(1) A-I, B-II, C-III, D-IV




(2) A-IV, B-1. C-I1, D-III
(3) A-IV, B-III, C-II, D-I
(4) A-I B-IV. C-II. D-III
1[Option ID=22185]
2[Option ID=22186]

3[Option ID=22187]
4[Option ID=22188]

Sl. No.77
QBID:9142452

Which of the following fruit is not suitable for jam making
(1) Mango
(2) Banana

(3) Amla
(4) Lemon

70 I BF T S o 9 & [ Sugad ol § 2
(1) A
(2) Tl

e

(3) 3Igadl
(a) Hig

1[Option ID=22189]
2[Option ID=22190]
3[Option ID=22191]
4[Option ID=22192]

Sl. No.78
QBID:9142453

Pectin is measured by
(1) Jelly meter

(2) Thermometer

(3) Refractometer
(4) All of these

ifdea # {5 R a1 o | -
(1) it Hiex

(2) Hf Afex

(3) 3uad=IE AT

(4) Iudia g4t
1[Option ID=22193]
2[Option ID=22194]

3[Option ID=22195]
4[Option ID=22196]

Sl. No.79
QBID:9142454

Given below are two statements : One is labelled as Assertion A and other is labelled as Reason R :

Assertion A : Lemon is not suitable for jam making.

Reason R : Jam is prepared by boiling the fruit with a sufficient quantity of sugar (minimum 68%) to a reasonable thick consistency.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R 1s the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) Ais true but R is false.
(4) Ais false but R is true.

Fr <1 FYF faU ML § UF HfFUE (Assertion A) F FU F e & @ gE0 S5 SR (Reason R) F 9 &
HYFYT A ;o S99 & o Hig Suge TE 8 |
FRU R : OF §91 & R B0 & TZ B 94 $1 1R 94T (68% T FH) & Y ST 91 & ATV M A T |

TRIad BYF & AEE |, A4 60 T GFedi § § 98l S &1 9949 Sig |
(1) ARREFAIT@EMR AT T A g
(2)




A 3R R €Fi SO E 9fET R, A &1 w8 oo T8 8
(3) ATUEORFEAR s ®
(4) A EOFTIR IS

1[Option ID=22197]
2[Option ID=22198]
3[Option ID=22199]
4[Option ID=22200]

Sl. No.80
QBID:9142455

Given below are two statements :

Statement - I : Litchi 1s commercially propagated by Air layering.

Statement - IT :Litchi is a substropical fruti crop .

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement II is false.

(4) Statement I is false but Statement IT is true.

T ey Ry E:

U 1 : Wi BT A 3 78 99 (TSR Saian) & gR1 aiftifcds &9 3 wasd= fparomarg |
U1 ; A ST 87 P UH BIAE |

SRIFd YT & Aa® 4. 9 fau T fdwedi I 9 9gt Im &1 9 Bifore:

(1) HYFI RIS T T

(2) BYT1 AR 13 3T

(3) U1 A 8. AfbT ST 11 3T &

(4) YT T . AP TP I I

1[Option ID=22201]
2[Option ID=22202]
3[Option ID=22203]
4[Option ID=22204]

Sl. No.81
QBID:9142456

Zero energy cool chamber operates on the principle of
(1) Second law of thermodynamics

(2) Evaporative cooling

(3) Boyle's law

(4) Charle's law

T ol ¥ 4R 6 fagra T &1l Sar @ -

(1) I el F fed Fram

(2) wiftE 9o

(3) sigw =1 FEH

(4) = &1

1[Option ID=22205]
2[Option ID=22206]
3[Option ID=22207]
4[Option ID=22208]

Sl. No.82
QBID:9142457

Given below are two statements :

Statement - I : The Head Quarter of the Indian Council of Agricultural Research is at Hyderabad.

Statement - I : Indian Agricultural Research Institute was earlier called as Imperial Agricultural Research Institute.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.

(3) Statement - I is correct but Statement - IT is incorrect.

(4) Statement - I is incorrect but Statement - I is correct.




fRasERims
FUYA [ ; HRATE ST e Thug &1 JE00g saueis § [T ¢ |
FUA 11 : RGeS 9ea sriiaa $ g9y 9RE F =9 § 9@ 9 ot |

TR FYF & HEE §, 1 By e Gedl # 9 98 W o1 9097 i
1) FFE] AR SH aa g

(2) SuA1 AR I &Hf 3Ed &

(3) HUA1 99 ¢ Tl S 11 sRa &

(4) =] G diET U [ vE ©

1[Option ID=22209]
2[Option ID=22210]
3[Option ID=22211]
4[Option ID=22212]

Sl. No.83
QBID:9142458

Given below are two statements :

Statement - I : Parthenium was mtroduced mto India from outside.

Statement - II : India is celebrating Parthenium Awareness campaign to minimise the losses caused by it and to prevent its further
spread.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - II is correct.

TR TARTme
FUF 1 - Wi o9 uRa  foew & o o |
FYF 1 1 : YR, niffos oreear Hfime &1 1hne 599 51 T &Tag! S $7 & oyl WiEg § 596 TR 3 3% & [0 ST 3 2

THIE FYF & HEE 8, A4 75U 0 Gwedi § 9 981 SR &1 997 S
(1) ] ARG Ta

(2) A1 3R Ef s &

(G) TFTUE FTFUF Il oA &

(4) T 390 APIFUT I TT 2

1[Option ID=22213]
2[Option ID=22214]
3[Option ID=22215]
4[Option ID=22216]

Sl. No.84
QBID:9142459

Consider the following statements :

Statement - I : Black Bengal goats are popular for its meat quality.

Statement - IT : Black Bengal goats have high fecundity (twin kidding)

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are incorrect.
(3) Statement - I is correct but Statement - IT is incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

#2 < sue ey &
FYF | ; HIE S0 S e A & g atda § o
FUF 11 : BRI I T30 31 For-a1 A0S 2 |

TRIGd BYT F TS |, 419 8y T Feeal # § 98 SR &1 997 S
(1) FF] AR A 9T ¢
(2) By 1 3R 11 EF1 e &




B) Al T g AT U II s &
(4) THE] UL AT s (I 9T &

1[Option ID=22217]
2[Option ID=22218]
3[Option ID=22219]
4[Option ID=22220]

Sl. No.85
QBID:9142460

ICAR - National Academy of Agricultural Research and Management is situated at
(1) New Delhi

(2) Coimbatore

(3) Hyderabad

(4) Jaipur

1% A T A - PTT Y SFHYH uE v e Sl T @ ?

(1) 75 Rt

(2) BEEE

&

(3) EevEE
(4) TE

1[Option ID=22225]
2[Option ID=22226]
3[Option ID=22227]
4[Option ID=22228]

Sl. No.86
QBID:9142461

Match List - T with List - II

List -1 List - II
A Glomus sp I Biocontrol fungi
B. Claviceps sp II. Mycorrhizal fungi
. Beauveria bassiana TI1. Enton?.ogenous fungi
Beauverna
D. Trichoderma sp. Iv. Ergotism

Choose the correct answer from the options given below :
(1) A-L B-IL C-III, D-IV
(2) A-IV, B-III, C-II, D-I
(3) A-II, B-IV, C-III, D-I
(4) A-IL B-IV, C-I, D-III

= 1 & iy @l 1T =1 e 2w

Tt 1 it 11
A, TEEsp i EEREUENETE
B.  =0igE™ sp 1. ASHRIGH0 FaF
C. st affga 0L TeAT Fa®
D. gESSH sp V.  wiiesH

i feu T Aeedi & 9 951 SR &1 904 B
(1) A-I, B-IL, C-III, D-IV

(2) A-IV, B-III, C-II. D-I

(3) A-II. B-IV, C-III, D-I

(4) A-II. B-IV, C-1. D-III

1[Option ID=22229]

2[Option ID=22230]

3[Option ID=22231]
4[Option ID=22232]

Sl. No.87




QBID:9142462
Which of the following fruit crop originated in temperate region but established well in sub tropical region ?

(1) Guava

(2) Apple

(3) Grapes

(4) Pear

e SF-9 Bo Tl BuT @1 35T ([EHa) DA 89 § g3 i Sael B9 Sl seddy 8 # 9 @ € &dl & o i 2
(1) 3#H%c

(2) 55

(3) [

(4) AT

1[Option ID=22233]
2[Option ID=22234]
3[Option ID=22235]
4[Option ID=22236]

Sl. No.88
QBID:9142463

Match List - T with List - II

List-1 List - IT
A Khaira disease of paddy I Manganese
B Whiptail of Cauliflower 11 Calemum
& Pahala blight of sugarcane III Zine
D Blossom end rot of fruits IV Molybdenum

Choose the correct answer from the options given below :
(1) A-l, B-IL, C-III. D-IV
(2) A-IV, B-IIIL, C-II, D-I
(3) A-II, B-IV, C-II, D-I
(4) A-III, B-IV, C-I, D-I

T 1 % WY 1 1T &1 e By

T I @ T 11 @h
A YT FT & I L Hefba
B. T @1 fegaea II. Hicaay
. T @ UgTal wge II1. iSED
D. ol B EEIS 9T V. BIINCEE L

i few T fiwedl & § 92 SR 1 90 BN
(1) A-I, B-IL, C-III, D-IV

(2) A-IV, B-III, C-II, D-I

(3) A-III B-IV, C-II, D-I

(4) A-III, B-IV, C-I, D-II

1[Option ID=22237]

2[Option ID=22238]

3[Option ID=22239]
4[Option ID=22240]

Sl. No.89
QBID:9142464

Compound interest method of estimating depreciation is otherwise called as

(1) Annual revaluation method
(2) Sinking fund method

(3) Insurance policy method

(4) Straight line method

Tl STe YOS G 319 #1 sfiee U5 i Feaar ? |
(1) TIiE qAeeg= wume

(2) wau 1% yomed




(3) & ifg vomedt
(4) il F=he women

1[Option ID=22241]
2[Option ID=22242]
3[Option ID=22243]
4[Option ID=22244]

Sl. No.90
QBID:9142465

Which of the following is correct ?
(1) MC curve is a continuous falling curve

(2) AVC curve lies above ATC curve
(3) When MC curve is above AVC curve, AVC is rising

(4) When MC curve is above AVC curve, AVC is falling
FafaTEd # 9§ 98l &yF gars

(1) MC % U SI9HH 0 ¢ |

(2) AVC %5 ATC 9% % SR Rua grar & |

(3) 98 MC 3% AVC 3% $ SR [Rd 5ia1 &, 99 AVC a1 ¢ |
(4) 98 MC &% AVC 3% & S0 [d 51 &, 8 AVC Teal ¢ |

1[Option ID=22245]
2[Option ID=22246]
3[Option ID=22247]
4[Option ID=22248]

Sl. No.91
QBID:9142466

Which of the following is the ratio not derived from the net worth statement
(1) Capital turn over ratio

(2) Net capital ratio

(3) Working ratio

(4) Current ratio

e 4 8 9 @1 ague Fea 5w 3 e § adf ogem fea man ¢

(1) g5 = afiae g

(2) faa goft e

(3) @1 @I A

(4) =T AHFETH

1[Option ID=22249]
2[Option ID=22250]
3[Option ID=22251]
4[Option ID=22252]

Sl. No.92
QBID:9142467

Economies of scale means
(1) Reduction in unit cost of distribution
(2) Reduction in unit cost of production

(3) Reduction in total cost of production
(4) Reduction in total cost of distribution
o 31 i # ot &

(1) oo &t vfy 515 7 F =

(2) S & W 5@ g0 § SA

(3) SAEA & HqUf g F FH

(4) faerw & "ol qeg & w4t

1[Option ID=22253]
2[Option ID=22254]
3[Option ID=22255]
4[Option ID=22256]

Sl. No.93
QBID:9142468




Which of the following formula is used to compute cost of production 7
(1) (Cost C3 + Value of by-product) / Production

(2) (Cost C3 — Value of by-product) / Production

(3) (Cost C3 = Value of by-product) / Production

(4) (Cost C3)/ (Value of by-product x Production)

FafifEd 5 9 o1 9 93 9wed & 9 & e s S g fsm e 8 2
(1) (9 C3 + JUEE 1 qe) / Feea

(2) ({9 C3 - SUIEIE &1 HeY) / 3

(3) (8 C3 = SUrEE %1 ) / e

(4) (9 C3)/ (3UIIE T Hel x Feg)

1[Option ID=22257]
2[Option ID=22258]
3[Option ID=22259]
4[Option ID=22260]

Sl. No.94
QBID:9142469

Appraisal of the project is generally done based on
(1) Proposed costs and Proposed returns

(2) Actual costs and Actual returns
(3) Proposed costs and Actual returns

(4) Actual cost and Proposed returns

ot wfdior &1 geg e remues: FeftEa w) eria g e
(1) TS He #AR warad wieemEe

(2) e g <R arafds uiamee

(3) WEIfEa Heg iR arafae wfameA

(4) TTfaE g SR wRaTaE uiaeEe

1[Option ID=22261]
2[Option ID=22262]
3[Option ID=22263]
4[Option ID=22264]

Sl. No.95
QBID:9142470

Game theory is an example of decision model.
(1) Closed

(2) Multiple choice

(3) Both A and B

(4) None of these

pio e semue  Fofa e
1) g

(2) =g i@

(3) A SR B EHf

(49) 3% =

1[Option ID=22269]

2[Option ID=22270]

3[Option ID=22271]
4[Option ID=22272]

Sl. No.96
QBID:9142471

Which of the following is the sequence in the market research process of a product ?
(1) Target marketing, Market positioning, Market segmentation, Market penetration
(2) Market positioning, Market segmentation, Target marketing. Market penetration
(3) Market segmentation, Target marketing, Market positioning, Market penetration
(4) Target marketing, Market segmentation, Market positioning. Market penetration
FafofEa # @ o @ gow 58 Sae S awr Dy A s R e 2




(1) vz TquuH, SeR Ruly, SR @S, S9R deF
(2) "ok &yl SoR S, Te RaE, a9 99F
(3) TWR Wervad, T& o, TeR Rl SR &
(4) &0 [quuH, ST9R EeiHaH, e Rufd, S9R 381

1[Option ID=22273]
2[Option ID=22274]
3[Option ID=22275]
4[Option ID=22276]

Sl. No.97
QBID:9142472

Imposition of tariff on the imported good based on Generalized System of Preference refers to
(1) Double column tariff

(2) Embargo

(3) Ad valorem duty

(4) Triple column tariff

ST FRge TR TR 7T WR[eh w1 ST & ot @ |eRe noel R P A S fre el § 2 0
(1) EIEX HITH U=

(2) =uR iy

(3) UM 3P

(4) T ST e

1[Option ID=22277]

2[Option ID=22278]

3[Option ID=22279]
4[Option ID=22280]

Sl. No.98
QBID:9142473

The headquarters of WTO is located at
(1) Singapore

(2) SriLanka

(3) Switzerland

(4) USA

WTO & gy g

(1) THTR

(2) e

(3) Faeseds

(4) UL
1[Option ID=22281]
2[Option ID=22282]

3[Option ID=22283]
4[Option ID=22284]

Sl. No.99
QBID:9142474

Which of the following is not the criterion for sanctioning loans by financial institution ?
(1) Size of holding

(2) Gender

(3) Managerial capacity

(4) Occupation

Tt # 9 27 91 iy 9REd R $9 A ST AMES T80 ¢ |
(1) i sreR (EifeET wE9)

(2) @

(3) wEYT AT

(4) T

1[Option ID=22285]

2[Option ID=22286]

3[Option ID=22287]
4[Option ID=22288]

Sl. No.100




QBID:9142475

An apex refinance mstitution established in the country to frame the monetary policy of banking mstitutions is :
(1) NABARD

(2) RBI

(3) ARDC

(4) AFC

¥ ®fta UF 918 &1 qAfdaey 9RE o SE swE S fag i dema e g -
(1) NABARD

(2) RBI

(3) ARDC

(4) AFC

1[Option ID=22289]

2[Option ID=22290]

3[Option ID=22291]
4[Option ID=22292]




